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gain K/Jy
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lbw 1175 gain vs za and fit mar03—oct03

- _ Pol I. gain(az,za) 1175.0 Mhz Sigma(y—yfit): 0.4306 B
E f(za): 10.02201 +( 0.00249)%za +(-0.10818)x(za—14%2 +( 0.00987)(za— 143
-~ SigCof: za 0.17474 0.01686 0.05083 0.00993 .
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Ibw 1300 gain vs za and fit mar03—oct03
- ___ Poll. gain(az,za) 1300.0 Mhz Sigma(y—yfit): 0.4710 =
E f(z0): 10.34871 +(—0.00531)+za +(—~0.09618)+(za—14)*2 +( 0.00705)(za—12)}3
— SigCof: za 0.17682 0.01703 0.05140 0.01001 —
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lbw 1375 gain vs za and fit mar03—oct03
— N K ¥ —
c R " B
C X X -
- Pol I. gain(az,za) 1375.0 Mhz Sigma(y—yfit): 0.4600 E
= f(z0): 10.68581 +(—0.00778)%za +(—~0.11576)*(za—14)2 +( 0.01054)(za— 133
- SigCof: za 0.17732 0.01707 0.05058 0.00987 ]
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lbw 1415 gain vs za and fit mar03—oct03
- ____ Poll. gain(az,za) 1415.0 Mhz Sigma(y—yfit): 0.4539 =
E f(za): 10.56714 +( 0.00060)za +(~0.07854)x(za—14%2 +( 0.00399)(za— 143
— SigCof: za 0.13431 0.01308 0.03775 0.00735 —
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gain K/Jy

gain K/Jy

gain K/Jy

lbw 1550 gain vs za and fit mar03—oct03

_ Pol I. gain(az,za) 1550.0 Mhz Sigma(y—yfit): 0.4001
f(za): 10.36783 +( 0.02761)xza +(—0.04274)+(za— 142 +(~0.00228)(za— |

SigCof: za 0.20684 0.02078 0.05892 0.01133
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lbw 1610 gain vs za and fit mar03—oct03
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_ Pol I. gain(az,za) 1610.0 Mhz Sigma(y—yfit): 0.4833
f(za): 10.14891 +( 0.03814)%za +(~0.05113)%(za—14)2 +(—-0.00193)(za—
SigCof: za 0.22096 0.02186 0.05911 0.01134
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lbw 1666 gain vs za and fit mar03—oct03

N

0

Pol I. gain(az,za) 1666.0 Mhz Sigma(y—yfit): 0.4127
f(za): 9.88018 +( 0.04800)%za +(—0.05613)x(za—14)2 +(—0.00095)(za—
SigCof: za 0.20676 0.02073 0.05808 0.01119
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Ibw 1175 Mhz gain fit residuals
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Ibw 1375 Mhz gain fit residuals
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Ibw 1550 Mhz gain fit residuals
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Ibw 1666 Mhz gain fit residuals
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